Easy to install
NO ~

1 (a) For flat-backed TVs
ERTEREN
77y hTLEHR
Fir Flache TVs
Pour les téléviseurs a dos plat
Per i televisori a schermo piatto
Para los televisores de pantalla plana

(b) For irregular-backed TVs Pour les téléviseurs a dos irrégulier
ERTFAMNESIREER Per i televisori posteriori irregolari
RN s TFL—>TFLEADERA  Para los televisores traseros irregulares
Fir TVs mit unregelmaRigem Riicken

Vs

Vs

(G
Wty

r

M8x50

=)

L

M5x16

M8x12

gy

M8x35

®16xP8.5x1.0

:

M5x30

“ (5mm)

Don't tighten the screw
REITRIRY

n

@\

5mm

What's in the box What's in the box Accessories for installing TV

Vs

VN x4

e

M6x14

| M-B pg

@@

M6x30

IV x4

(@

M8x20

| M-D b

(o 3

M8x45

B

| M-E pg

J16x38.2x1

I

@15x38.0x5

| M-G b}

&

J15x8.0x15




Easy to install
5
% (5mm)

\

Tighten the screws

X% LHVEEH T EEL

.\/

Apretar los tornillos

Easy to install
6

(13mm)

.

(14mm)

Easy to install Easy to install
7 8

Easy to install Easy to install

9

g (5mm)

e

10

~




